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When we give a summary of a chapter, we explain the 
main events that happen. Can you summarise what 

happens in chapter six? 
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Read through the text and answer the questions on the next 
slide

Barney remembered the suitcases, and hurriedly hid them 
deep in a bramble patch before running off after Stig again. 
By the time he got to the car, which was lying on its back 
with its wheels in the air, Stig was already hard at work 
skinning the leather off the seats and the carpets off the 
floors. Barney stood helplessly watching. Stig obviously 
thought that anything thrown into his dump was for him 
to do what he liked with. But if the men came back and 
found them at it they would be very angry. Then he saw 
what they would have to do. 

He got up on the pile of rubbish at the foot of the cliff and 
starting throwing things on top of the dead motor­car – 
old wash­tubs, bedsteads, bicycle frames. Stig soon got the 
idea – they were burying the animal to hide it from the 
enemy. Before long the car was covered with bits and 
pieces, branches and moss. 

Then, as they worked, Stig suddenly froze into stillness, 
and listened. Barney listened too. There were voices coming 
from the top of the cliff. Barney crept into the inside of the 
upturned car and beckoned Stig in too. They crouched on 
the ceiling, looking up at the seats and pedals, and 
listened.
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1. Where did Barney hide the 
suitcases?

2. Why were Stig and Barney 
throwing things on top of the 
car?

3. Why has the author chosen to 
use the word ‘crouched’? 
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Answers

In a bramble patch.

To hide the car from the thieves.

To show that Barney and Stig were hiding. 
They were sitting in a crouched position 
with bent knees so they were less likely to 
be seen.
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